
NSN 4320-01-084-3642
Steam Chest Assembly - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/4320-01-084-3642

General Description:

Consists of p/n sx-5 main chest liner 1 ea, p/n sy-5 aux chest liner 1 ea, 1/8 in. Pipe plug 6 ea, 1/2 by 2 in. Stud 8 ea, 1/2 in. Hex nut 12 ea,

p/n ug-2 gland stud 4 ea, 3/8 in. Hex nut 6 ea, split pin 3/32 in. By 3/4 in. Lg 4 ea, p/n ul-1 chest bush lkg plug 2 ea, p/n tq-4 gasket 2 ea, p/n

tq-3 gasket 2 ea, aux chest head 2 ea, p/n sp-1 throat liner 2 ea, p/n tl-2 gland 2 ea, shoulder stud 2 ea, 3/8 in. Jam nut 4 ea, 3/8 in.

Shakeproof washer 4 ea, main chest head 2 ea, 1/8 by 1/4 in. Keeper 3 ea, p/n yb-1 main piston valve assembly, 1 ea, 1.000 in. Pipe plug 2

ea, p/n tn-2 main piston valve ring 8 ea, p/n yc-1 aux piston valve assembly 1 ea, p/n sc-10 tail rod 1 ea, aux valve rod 1 ea, 1/2 in. Jam nut

2 ea, knuckle joint 1 ea, p/n sr-3 knuckle joint bushing 1 ea, knuckle taper pin 1 ea, p/n wk-29 flanged nipple chest drain

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

https://aerobasegroup.com

